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Question: 94

Which of the following best describes the Scrum Pillar "Transparency"?

A. The whole process should be visible to everyone.

B. The process should be visible to the key stakeholders.

C. Significant aspect of the process must be visible to those responsible for the outcome.

Answer: C

Explanation:

Only significant aspects should be visible, not all the details. The process does not to be visible to
everybody in the world.

Question: 95

The Product Backlog is baselined before the Sprint 0.
A. False
B. True

Answer: A
Explanation:

This statement is wrong because the Product Backlog is not baselined (fixed) and there is no Sprint 0 in Scrum.
Question: 96

Which of the following are Scrum Values?
A. Respect

B. Focus

C. Inspection

D. Collaboration

E. Commitment

F. Maximize Value

G. Courage

H. Openness



Answer: A,B,E,GH

Explanation:

The Scrum Values are: commitment, courage, focus, openness, and respect.
Question: 97

Self-management means, that the team can decide which Scrum events are needed.

A. False
B. True

Answer: A

Explanation:

All Scrum events listed in the Scrum Guide are mandatory.
Question: 98

Following Scrum, there can be a maximum of one release per Sprint.

A. False
B. True

Answer: A

Explanation:

If needed, you can have more than one release per Sprint.

Question: 99

Which Scrum accountability (role = outdated term) is owning the Sprint Backlog?
A. The Product Owner

B. The Scrum Master
C. The Development Team

Answer: C
Explanation:

To "own" something means, that you are accountable for it.
Question: 100

Which of the following are mandatory in Scrum?



A. Do Sprint Plannings.
B. Do Daily Scrums.

C. Have a Product Owner.
D. Use Story Points.

E. Use User Stories.

Answer: A,B,C

Explanation:

It is not mandatory to use User Stories or Story Points in Scrum, but it is recommended.
Question: 101

The Scrum Master can decide which Scrum Artifacts are required in the Scrum project.

A. False
B. True

Answer: A

Explanation:

Scrum defines which Artifacts are required in all Scrum project, not the Scrum Master.
Question: 102

How is budgeting done in a Scrum Project?

A. ldeally budgeting is done every Sprint.

B. Scrum doesn’t need the team to care about budget.
C. Budgeting is done based on the Product Backlog as a baseline.

Answer: A

Question: 103

The collaboration between the Developers and the Product owner is very important for the product .
Which of the following is the least productive way for the Scrum Master to improve this collaboration?
A. The Scrum Master should act as a go-between for them.

B. The Scrum Master should teach them techniques to improve it.
C. The Scrum Master should suggest new collaboration tools.

Answer: A

Explanation:



Acting as a go-between is not a sustainable solution!

Question: 104

Which Scrum Event can be compared to the use of a "lessons learned meeting"”?
A. The Sprint Review.

B. The Daily Scrum.

C. The Sprint Retrospective.
D. The Sprint Planning.

Answer: C
Explanation:

Sprint Retrospective is about discussing the way work was done and to find ways to improve it.
Question: 105
The Product Backlog should have just enough detail.

A. False
B. True

Answer: B
Explanation:

The Product Backlog will evolve. The amount of information will grow and change.
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